SEE DETAILS 3 & 4 FOR ANCHORING OPTIONS

1-6"
END
O.H.

DBL. 2x10 ANOD.
SHELF PLANK.
(21°=0" LONG)

21° BENCH
2x10 ANODIZED BACKREST PLANK
(21'=0" LONG)

6’ 0/C
TUBE CAP,

2X10_END CAPS
ALL PLANKS

ISOMETRIC VIEW OF BENCH ASSEMBLY
Note: Seat Plank Shown Dotted for Clarity 2x10 ANODIZED SEAT PLANK
(21'-0" LONG)

O TYP 2x10 PLANK ATTACHMENT

5/16 CARRIAGE BOLT]|

TYP. HOLD
DOWN CLIP

‘ﬁ% EL./_FLANGE NUT

NOT TO SCALE

O TYP 2x10 ENDCAP ATTACHMENT

#8 x %" STAINLESS SCREW
2x10 PLANK (UP—SIDE DQOWN)

N

NOT TO SCALE 2x10 ENDCAP

5 TYP ANCHORING DETAIL & RUBBER FOOT PAD ATTACH. DETAIL
ATTACH USING 3/8 x 2 3/4" CONCRETE
DBL. ZELOELIA%N%[L)LZNEKD ANCHOR, 1%” MIN. EMBEDMENT. i—FLANGE NUT
(USE 5/16 x 1—1/2" CARRIAGE BOLT) 3/8" x 1.1/27 ‘E
LAG SCREW
| N I N FRAME
; S \ BENCH LEG
2x10 ANODIZED T
BACKREST PLANK, V
(USE 5/16 x 3" CARRIAGE BOLT) % %
—
2x10 ANODIZED
SEAT PLANK, 2x6 GROUND SILL
(USE 5/16 x 1%" CARRIAGE BOLT) CONC. ANCHOR GROUND SILL
ATTAGHMENT ATTACHMENT FLAT WASHER RUBBER FOOT PAD
/ \5/16 RND HD MACH SCREW
NOT TO SCALE
SCALE: APPROVED BY: DRAWN BY:
‘ NN ‘ DATE:
TITLE:
DGS BENCH FRAME
SIDE VIEW OF BENCH ASSEMBLY CUSTOMER: DRAWING NUMBER:




